QUIZ

CHALLENGES AND OPPORTUNITIES AMID
INDIA’S POPULATION BOOM

Are the sentences below true (T) or false (F) according to the video report?

1. India’s population is probably now larger than that of China. QT QAF
2. There are yearly census figures taken in India. QT QaF
3. India’s population trend will probably continue. QT Q4F
4. There is an average of two children per family across the entire country. QT QAF
5. India and China have a similar approach to population control. QT QaF
6. India’s economy will surely overtake China’s in the next few years. QT Q4F
7. India has lower labor costs than China. QT QF

SOLUTIONS:1.T-2.F-3.T-4.F-5.F-6.F-7.T.
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